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QUESTION 1
What does the Component Reconfiguration feature allow you to do?

A. Modify component parameters while allowing existing component tasks to continue running using the old
parameters.

B. Activate reconfigured components at the next server restart.
C. Move server components from one server to another.
D. Stop all current instances of a component and restart them with new parameters.

Correct Answer: A

QUESTION 2

Which three are reasons why you would consider implementing a business policy using Siebel Business Rules?
(Choose three.)

A. Business rules can be centrally developed and administered.

B. Business rules do not require compilation of the repository file.

C. Business rules are modeled using a precise graphical modeling language.

D. Business rules typically execute faster than repository-based configuration.

E. Business rules can be easily updated to implement rapidly changing business policies.

Correct Answer:. ABE

QUESTION 3

Your team extended the Siebel database by creating a new stand-alone table. Select the two true statements. (Choose
two.)

A. This table does not contain a ROW_ID column.

B. The user key for this table is ROW_ID, NAME, TYPE.

C. The table cannot be added to an existing dock object.

D. This table contains a PAR_ROW_ID column acting as a foreign key to the S_PARTY table.

E. You can create an intersection table to support M:M relationships between business components based on this table
and other business components.

Correct Answer: CE
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QUESTION 4

Which object definitions in the Business Layer do List columns and controls in the Ul Layer reference?
A. Fields

B. Columns

C. Business objects

D. Business components

Correct Answer: A

QUESTION 5

Which two are true of the Siebel File System? (Choose two.)
A. must be named siebfile

B. must be a single file system on a single drive

C. must support long and case-sensitive filenames

D. must be accessible from machines running Siebel Servers

Correct Answer: CD
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